





$$x(t) = \operatorname{Re}\left\{\sum_{k=0}^{K-1} a_k \exp(i2\pi g_k f_\Delta(t - T_{cp}) \exp(i2\pi f_{rc}t))\right\}, \quad 0 \le t \le T_s$$
$$x(t) = \operatorname{Re}\left\{\sum_{k=0}^{K-1} a_k \exp(i2\pi\omega_k t)\right\}, \quad 0 \le t \le T_s$$
$$z(t) = \operatorname{Re}\left\{\sum_{k=0}^{K-1} H(\omega_k) a_k \exp(i2\pi\omega_k t)\right\}, \quad T_h \le t \le T_s$$

$$\begin{aligned} x(t) &= \operatorname{Re}\left\{\sum_{k=0}^{K-1} a_k \exp(i2\pi g_k f_\Delta(t - T_{cp}) \exp(i2\pi f_{rc}t)\right\}, \quad 0 \le t \le T_s \\ & \text{Or alternatively} \\ x(t) &= \operatorname{Re}\left\{\sum_{k=0}^{K-1} a_k \exp(i2\pi f_k t + \theta_k)\right\}, \quad 0 \le t \le T_s \\ & x(t) = \operatorname{Re}\left\{\sum_{k=0}^{K-1} a_k \exp(i2\pi\omega_k t)\right\}, \quad 0 \le t \le T_s \\ & z(t) = \operatorname{Re}\left\{\sum_{k=0}^{K-1} H(\omega_k) a_k \exp(i2\pi\omega_k t)\right\}, \quad T_h \le t \le T_s \end{aligned}$$

$$x(t) = \operatorname{Re}\left\{\sum_{k=0}^{K-1} a_k \exp(i\omega_k t + \theta_k)\right\}, \quad 0 \le t \le T_s$$
$$x(t) = \operatorname{Re}\left\{\sum_{k=0}^{K-1} a_k \exp(i2\pi\omega_k t)\right\}, \quad 0 \le t \le T_s$$
$$z(t) = \operatorname{Re}\left\{\sum_{k=0}^{K-1} H(\omega_k)a_k \exp(i2\pi\omega_k t)\right\}, \quad T_h \le t \le T_s$$

$$x(t) = \operatorname{Re}\left\{\sum_{k=0}^{K-1} a_k \exp(i\omega_k t + \theta_k)\right\}, \quad 0 \le t \le T_s$$
$$z(t) = \operatorname{Re}\left\{\sum_{k=0}^{K-1} H(\omega_k) a_k \exp(i\omega_k t + \theta_k)\right\}, \quad T_{cp} \le t \le T_s$$
$$x(t) = \operatorname{Re}\left\{\sum_{k=0}^{K-1} a_k \exp(i2\pi\omega_k t)\right\}, \quad 0 \le t \le T_s$$
$$z(t) = \operatorname{Re}\left\{\sum_{k=0}^{K-1} H(\omega_k) a_k \exp(i2\pi\omega_k t)\right\}, \quad T_h \le t \le T_s$$

$$\begin{aligned} x(t) &= \operatorname{Re}\left\{\sum_{k=0}^{K-1} a_k \exp(i\omega_k t + \theta_k)\right\}, \quad 0 \le t \le T_s \\ z(t) &= \operatorname{Re}\left\{\sum_{k=0}^{K-1} H(\omega_k) \exp(i\theta_k) a_k \exp(i2\pi g_k f_\Delta t) \exp(i2\pi f_{rc} t)\right\}, \quad T_{cp} \le t \le T_s \end{aligned}$$
Expand using the reference-carrier

$$x(t) = \operatorname{Re}\left\{\sum_{k=0}^{K-1} a_k \exp(i\omega_k t + \theta_k)\right\}, \quad 0 \le t \le T_s$$

$$z(t) = \operatorname{Re}\left\{\sum_{k=0}^{K-1} H(\omega_k) \exp(i\theta_k) a_k \exp(i2\pi g_k f_\Delta t) \exp(i2\pi f_{rc} t)\right\}, \quad T_{cp} \le t \le T_s$$
Frequency down-conversion
$$z(t) \longrightarrow \frac{\cos(2\pi f_{rc} t)}{-\sin(2\pi f_{rc} t)} \longrightarrow ?$$



































































